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Η εξίσωση  x2+y2+Ax+By+Γ=0,
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Κέντρο: Κ(x0,y0)
Ακτίνα : ρ 
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Αν Κ(0,0) τότε 
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y2=2px

με εστία Ε(p/2, 0) και 
διευθετούσα δ: x=-p/2 
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με εστίες τα σημεία  
    Ε΄(-γ,0),Ε(γ,0) 
Μεγάλο άξονα ΑΆ=2α 
Μικρό άξονα Β΄Β =2β 

x2=2py

με εστία Ε(0,p/2) 
και διευθετούσα 
      δ: y=-p/2 
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με εστίες τα σημεία  
     Ε΄(0,-γ),Ε(0,γ) 
Μεγάλο άξονα:  ΑΆ=2α 
Μικρό άξονα :   Β΄Β =2β 
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Εστίες :     Ε΄(-γ,0),Ε(γ,0) 

Κορυφές: Α΄(-α,0), Α(α,0) 

Ασύμπτωτες :  y= x
α

β
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Εστίες :    Ε΄(0,-γ),Ε(0,γ) 

Κορυφές: Α΄(0,-α),Α(0,α) 

Ασύμπτωτες: y= x
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ΤΥΠΟΛΟΓΙΟ - Μυλωνάκης




